Prepared by DYS									
Trepared by D13					Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115				
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13-	CD-060-RA		ting In 1115				
		SAN ANTONIO	WATER SYSTEM	3	ctir e 1	(3	ن	
		P. O. BOX 2449		100	ontract Suite			Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137	
		SAN ANTONIO, TEX	AS 78298-2449		oni S, S	97		ng 31v 61.	
		TABULATION OF BI		1 1 1	t C	8		icti	
					c-Man Detroit, Inc./Cat Co LLC/JV 1001 Woodward Avenue,	Detroit, IVII 48226		uthland Contracting, Ir 6635 Sandshell Blvd Ft Worth, Texas 76137	
PROPOSAL:		C_13 Broadway Cor	rridor, Package A		`;	Σ		nds Te	
						OIT,		d C Sal th,	
		Job # 11-2518			oit, ™i	etr		an 35 /or	
TIME O				$\widehat{\Box}$	etr.	<u>ລ</u> ັ	$\widehat{\Box}$	thl 66.	
TIME &		9:30 A.M.			ă			DO E	
					lan)1 '			S	
					¥ 8				
					Ric 1				
DATE:		November 19, 2013	3						
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		
			Tree Protection to include						
			placement and removal after project						
1	1	LS	is complete and in place	\$25,000.00		\$25,000.00	\$5,000.00		\$5,000.00
			Traffic Control, Barricades, Signs and						
2	1	LS	Traffic Handling	\$85,000.00		\$85,000.00	\$15,000.00	<u> </u>	\$15,000.00
			Trench Excavation Safety Protection						
3	1,676	LF	(All Depths)	\$5.00		\$8,380.00	\$10.00		\$16,760.00
3	1,070	Li	(All Deptils)	\$5.00	-	\$6,360.00	\$10.00	F	\$10,700.00
			Flow Management and Bypass						
4	1	LS	Pumping	\$1,240,000.00		\$1,240,000.00	\$750,000.00		\$750,000.00
			Removal of Siphon Barrel Stop-logs						
			and Pre-Construction Cleaning of						
5	1	LS	Siphon Barrels	\$56,500.00		\$56,500.00	\$30,000.00		\$30,000.00
			60-inch Sanitary Sewer Cleaning and						
6	6,431	LF	Televising Before Rehabilitaion	\$38.00		\$244,378.00	\$35.00		\$225,085.00
			60-inch CIPP Sewer Main						
7	6,431	LF	Rehabilitation	\$550.00	<u> </u>	\$3,537,050.00	\$650.00	<u> </u>	\$4,180,150.00
			Manhole Rehabilitation and	[
8	14	EA	Adjustment	\$2,200.00	<u> </u>	\$30,800.00	\$3,500.00	L	\$49,000.00
			Replacement of Manhole 30356 with						
_			a Tee Base Drop Manhole Complete				A		د
9	1	EA and In-Place		\$31,000.00	<u> </u>	\$31,000.00	\$12,000.00	L	\$12,000.00
10	2	EA New Standard Tee Base Manholes		\$25,500.00		\$51,000.00	\$10,000.00		\$20,000.00
10		EA New Standard ree base Maillioles		Ç23,300.00	 	731,000.00	710,000.00	<u> </u>	720,000.00
11	127	LF 60-inch FRP Sewer Pipe		\$910.00		\$115,570.00	\$500.00		\$63,500.00
		2. 25 112.1111 56116.11.195						Γ	
_						4			,
12	41	LF	66-inch FRP Sewer Pipe	\$2,500.00	L	\$102,500.00	\$600.00		\$24,600.00

Prepared by DYS					· i				
Solicitation No.:	B-13-CD-058-RA	P. O. BOX 2449 SAN ANTONIO, TEX TABULATION OF BI	WATER SYSTEM AS 78298-2449 DS		Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115	Detroit, MI 48226		Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137	
PROPOSAL:		C_13 Broadway Cor Job # 11-2518	ridor, Package A		oit, Inc./Cat LLC/JV Iward Aven	etroit, M		and Con 35 Sand! /orth, Te	
TIME &		9:30 A.M.			Ric-Man Detri 1001 Wooc	ă		Southl 66 Ft M	
DATE:	1 -	November 19, 2013							
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		
13	60	LF	Abandonment of 60-inch RCP on Josephine Street	\$185.00		\$11,100.00	\$50.00		\$3,000.00
15	1	EA	New FRP Manhole for Air Transfer Piping	\$6,200.00		\$6,200.00	\$7,000.00		\$7,000.00
16	590	LF	24-inch FRP Air Transfer Piping	\$260.00		\$153,400.00	\$200.00		\$118,000.00
17	1	LS	Grit Chamber Upstsream and Downstream	05,000.00		\$105,000.00	\$20,000.00	11	\$20,000.00
18	1	LS	Diversion Structure Installation. Complete and In Place Inverted Siphon Inlet and Outlet	95,000.00		\$495,000.00	\$200,000.00		\$200,000.00
19	1	LS	Structures and Transition Piping Installation. Complete and In-Place Triple Barrel Siphon Installation.	\$389,000.00		\$389,000.00	\$320,000.00	60	\$320,000.00
20	1	LS	Complete and In-Place via trenchless technology	\$2,600,000.00		\$2,600,000.00	\$3,148,353.00		\$3,148,353.00
21	80	LF	LF 18-inch SDR 26 PVC Installation			\$26,400.00	\$150.00		\$12,000.00
22	2	Standard Manholes for 18-inch EA sewer Removal and Disposal of Sewage		\$330.00		\$16,000.00	\$4,500.00		\$9,000.00
23	1	LS	from Abandoned 60-inch RCP, Siphon Structures and Siphon Barrels on N. Alamo	\$24,000.00		\$24,000.00	\$20,000.00		\$20,000.00

Prepared by DYS					ن				
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13- SAN ANTONIC P. O. BOX 2449 SAN ANTONIO, TEX TABULATION OF B	O WATER SYSTEM (AS 78298-2449		Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115	48226		Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137	
PROPOSAL:		C_13 Broadway Co	rridor, Package A		oit, Inc./Ca LLC/JV Iward Aver	Detroit, MI 48226		uthland Contracting, Ir 6635 Sandshell Blvd Ft Worth, Texas 76137	
TIME &		9:30 A.M.			Ric-Man Detr 1001 Wood	ă	<u></u>	Southl 66 Ft W	
DATE: Item No.	Estimate Qty	November 19, 2013 Unit of Issue	Description	Unit Price			Unit Price		
24	60		Removal and Disposal of Solid Material from Abandoned 60-inch RCP on N. Alamo	\$425.00		\$25,500.00	\$400.00		\$24,000.00
25	30	СУ	Removal and Disposal of Solid Material from Abandoned Siphon Structures and Barrels	\$425.00		\$12,750.00	\$400.00		\$12,000.00
26	1	LS	Cleaning and Televising of Abandoned Siphon Sturctures and Barrels	\$36,000.00	ıtage	\$36,000.00	\$5,000.00	ıtage	\$5,000.00
27	425	СУ	Grouting of Abandoned 60-inch RCP on N Alamo	\$165.00	Percentage	\$70,125.00	\$60.00	Percentage	\$25,500.00
28	425	СУ	Grouting of Abandoned Siphon Structures and Barrels	\$145.00	_	\$61,625.00	\$60.00	_	\$25,500.00
29	778	LF	36-inch Recycled Water Line Relocation	\$500.00		\$389,000.00	\$200.00		\$155,600.00
30	528	LF	Abandonment of 36-inch Recycled Water Line	\$38.00		\$20,064.00	\$10.00		\$5,280.00
31	1	EA	Recycled Water Installation of 4-inch Outlet	\$2,000.00		\$2,000.00	\$2,000.00		\$2,000.00

Prepared by DYS					.•				
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13 SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF E	O WATER SYSTEM XAS 78298-2449		Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115	48226		Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137	
PROPOSAL:		C_13 Broadway Co			oit, Inc./Ca LLC/JV ward Aver	Detroit, MI 48226		uthland Contracting, Ir 6635 Sandshell Blvd Ft Worth, Texas 76137	
TIME &		9:30 A.M.		<u></u>	Ric-Man Detro 1001 Wood	De		Southla 663 Ft W	
DATE:		November 19, 201			· · · · · · · · · · · · · · · · · · ·				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		
32	2	EA	Recycled Water Blow-off Installation 36-inch Recycled Water Butterfly	\$4,100.00		\$8,200.00	\$5,000.00	-	\$10,000.00
33	1	EA	Valve Prime Coat Application, Complete	\$34,000.00		\$34,000.00	\$15,000.00	-	\$15,000.00
34	1,184	GAL	and In-Place Tack Coat Application. Complete and	\$7.00		\$8,288.00	\$1.00	-	\$1,184.00
35	592	GAL	In-Place Salvaging, Hauling and Stockpiling	\$7.00		\$4,144.00	\$1.00		\$592.00
36	4,735	SY	Reclaimable Asphaltic Pavement Cutting and Replacing with Flexible Base and Hot Mix Asphaltic Concrete Pavement (Trench Repair) - Type "C" Modified or Type "D" - 3 inches min. compacted depth. Complete and In-			\$20,834.00	\$4.00		\$18,940.00
37	5,918	SY	Place Full Depth Pavement Replacement.	\$28.00		\$165,704.00	\$17.00		\$100,606.00
38	1,270	SU	Complete and In-Place	\$105.00		\$133,350.00	\$30.00		\$38,100.00

Prepared by DYS					. •				
	D 42 CD 050 DA	6 · · · · · · · · · · · · · · · · · · ·	CD 050 DA		Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115		لكيا		
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13-			c-Man Detroit, Inc./Cat Contracting Ir LLC/JV 1001 Woodward Avenue, Suite 1115				
			WATER SYSTEM	3	act.			Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137	
		P. O. BOX 2449	AC 70200 2440		ntr Sui	9		uthland Contracting, Ir 6635 Sandshell Blvd Ft Worth, Texas 76137	
		SAN ANTONIO, TEX			Col Je,	322		tin I B J 76	
		TABULATION OF BI	DS		Sat V ent	34		rac nel as	
PROPOSAL:		C_13 Broadway Cor	ridor, Package A		Inc./Cat LLC/JV rd Aven	Σ		ont Idsl	
					로 그 p	Detroit, MI 48226		d C. San th,	
		Job # 11-2518			oit, Iwa	etro		and 35.3	
TIME &		9:30 A.M.		ര്	etro	ă	<u>~</u>	t √	
TIIVIL &		3.30 A.IVI.			مِ کِ			oo.	
					/lar 01			01	
					C-N 10				
DATE:		November 19, 2013	3		~				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		
			Cutting and Replacing Concrete						
			Curbing (<1,000 LF). Complete and In						
39	910	LF	Place	\$38.00		\$34,580.00	\$7.00		\$6,370.00
33	510	Li	Tide:			\$34,360.00	\$7.00		\$0,570.00
			Concrete Driveways Reconstruction.						
40	45	SY	Complete and In-Place	\$57.00		\$2,565.00	\$70.00		\$3,150.00
			Concrete Sidewalks Reconstruction.						
41	460	SY	Complete and In-Place.	\$38.00		\$17,480.00	\$38.00		\$17,480.00
		<u> </u>	complete and in Flace.	φ30.00	-	Ψ17)100100	φσσ.σσ		ψ27,100100
42	1	LS	SWPP Plan and Execution	\$6,000.00		\$6,000.00	\$10,000.00		\$10,000.00
43	50	FT	Inlet Gravel Filter Bags	\$135.00		\$6,750.00	\$25.00		\$1,250.00
-				,	•	1 - 7	, , , ,		, , , , , , , , , , , , , , , , , , , ,
	_			4450 000 00		44-0 000	44-0 000		4.=0.000 ==
44	1	LS	Utility Relocation Allowance	\$150,000.00	•	\$150,000.00	\$150,000.00		\$150,000.00
А			SUBTOTAL BASE BID			\$10,565,637.00			\$9,877,000.00
	I .		002.0		•	+,,			+=,=,===.

Prepared by DYS					.c		
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13- SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TEX TABULATION OF BI	WATER SYSTEM AS 78298-2449		Ric-Man Detroit, Inc./Cat Contracting Inc. LLC/JV 1001 Woodward Avenue, Suite 1115 Detroit, MI 48226		Southland Contracting, Inc. 6635 Sandshell Blvd Ft Worth, Texas 76137
PROPOSAL:		C_13 Broadway Cor Job # 11-2518	ridor, Package A		-Man Detroit, Inc./Cat Co LLC/JV 1001 Woodward Avenue, Detroit, MI 4822		uthland Contracting, Ir 6635 Sandshell Blvd Ft Worth, Texas 76137
TIME &		9:30 A.M.			Ric-Man Dei 1001 Woo		Sout 6 Ft
DATE:	_	November 19, 2013					
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	
	1						

Prepared by DYS							
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13 SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TEX TABULATION OF B	O WATER SYSTEM XAS 78298-2449		Layne Inliner, LLC	4701 Decker Baytown, Texas 77520	
PROPOSAL:		C_13 Broadway Co	orridor, Package A		Inline	4701 Decker own, Texas 7 [.]	
TIME &		Job # 11-2518 9:30 A.M.			Layne	47C aytowr	
THVIL Q		9.30 A.IVI.				Δ.	
DATE:		November 19, 201	3				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			
		_	Tree Protection to include placement and removal after project				
1	1	LS	is complete and in place	\$5,000.00			\$5,000.00
2	1	LS	Traffic Control, Barricades, Signs and Traffic Handling	\$50,000.00			\$50,000.00
3	1,676	LF	Trench Excavation Safety Protection (All Depths)	\$1.00	T I		\$1,676.00
			Flow Management and Bypass				
4	1	LS	Pumping Removal of Siphon Barrel Stop-logs and Pre-Construction Cleaning of	\$2,200,000.00			\$2,200,000.00
5	1	LS	Siphon Barrels 60-inch Sanitary Sewer Cleaning and	\$45,000.00			\$45,000.00
6	6,431	LF	Televising Before Rehabilitaion	\$48.00			\$308,688.00
7	6,431	LF	60-inch CIPP Sewer Main Rehabilitation	\$650.00			\$4,180,150.00
8	14	EA	Manhole Rehabilitation and Adjustment	\$15,000.00			\$210,000.00
9	1	EA	Replacement of Manhole 30356 with a Tee Base Drop Manhole Complete and In-Place	\$45,000.00			\$45,000.00
10	2	EA	New Standard Tee Base Manholes	\$45,000.00			\$90,000.00
11	127	LF	60-inch FRP Sewer Pipe	\$700.00			\$88,900.00
12	41	LF	66-inch FRP Sewer Pipe	\$800.00			\$32,800.00

Prepared by DYS						
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13 SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF E	O WATER SYSTEM XAS 78298-2449		Layne Inliner, LLC 4701 Decker Baytown, Texas 77520	
PROPOSAL:		C_13 Broadway Co	orridor, Package A		Layne Inliner, LLC 4701 Decker ytown, Texas 775:	
TIME &		Job # 11-2518 9:30 A.M.			La'	
DATE: Item No.	Estimate Qty	November 19, 201		Unit Dries		
item No.	Estimate Qty	Offit of issue	Description	Unit Price		
13	60	LF	Abandonment of 60-inch RCP on Josephine Street	\$125.00		\$7,500.00
15	1	EA	New FRP Manhole for Air Transfer Piping	\$15,000.00	<u></u> j	\$15,000.00
16	590	LF	24-inch FRP Air Transfer Piping	\$200.00		\$118,000.00
17	1	LS	Grit Chamber	\$575,000.00		\$575,000.00
			Upstsream and Downstream Diversion Structure Installation.			
18	1	LS	Complete and In Place Inverted Siphon Inlet and Outlet Structures and Transition Piping	\$770,000.00		\$770,000.00
19	1	LS	Installation. Complete and In-Place Triple Barrel Siphon Installation. Complete and In-Place via trenchless	\$760,000.00		\$760,000.00
20	1	LS	technology	\$5,100,000.00		\$5,100,000.00
21	80	LF	18-inch SDR 26 PVC Installation	\$200.00		\$16,000.00
22	2	EA	Standard Manholes for 18-inch sewer Removal and Disposal of Sewage	\$25,000.00		\$50,000.00
22		16	from Abandoned 60-inch RCP, Siphon Structures and Siphon Barrels			¢Ε0 000 00
23	1	LS	on N. Alamo	\$50,000.00		\$50,000.00

Prepared by DYS						1
Solicitation No.: PROPOSAL:	B-13-CD-058-RA	Contract No.: C-13 SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF E C_13 Broadway Co	O WATER SYSTEM XAS 78298-2449 BIDS		Layne Inliner, LLC	4701 Decker Baytown, Texas 77520
TIME &		Job # 11-2518 9:30 A.M.			Layn	Baytow
DATE:		November 19, 201	.3			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		
24	60	CY	Removal and Disposal of Solid Material from Abandoned 60-inch RCP on N. Alamo	\$500.00		\$30,000.00
25	30	СУ	Removal and Disposal of Solid Material from Abandoned Siphon Structures and Barrels	\$500.00		\$15,000.00
26	1	LS	Cleaning and Televising of Abandoned Siphon Sturctures and Barrels	\$45,000.00	ntage	\$45,000.00
27	425	CY	Grouting of Abandoned 60-inch RCP on N Alamo	\$125.00	Percentage	\$53,125.00
28	425	CY	Grouting of Abandoned Siphon Structures and Barrels	\$125.00		\$53,125.00
29	778	LF	36-inch Recycled Water Line Relocation	\$350.00		\$272,300.00
30	528	LF	Abandonment of 36-inch Recycled Water Line	\$50.00		\$26,400.00
31	1	EA	Recycled Water Installation of 4-inch Outlet	\$8,500.00		\$8,500.00

Prepared by DYS							
Solicitation No.: PROPOSAL:	B-13-CD-058-RA	P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF	O WATER SYSTEM EXAS 78298-2449		Layne Inliner, LLC	4701 Decker Baytown, Texas 77520	
		Job # 11-2518			ayne Ir	4701 town, [.]	
TIME &		9:30 A.M.			_	Вау	
DATE:		November 19, 20	13				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			
32	2	EA	Recycled Water Blow-off Installation	\$15,000.00			\$30,000.00
33	1	EA	36-inch Recycled Water Butterfly Valve	\$50,000.00			\$50,000.00
34	1,184	GAL	Prime Coat Application, Complete and In-Place	\$5.00			\$5,920.00
35	592	GAL	Tack Coat Application. Complete and In-Place	\$8.00			\$4,736.00
36	4,735	SY	Salvaging, Hauling and Stockpiling Reclaimable Asphaltic Pavement	\$5.00			\$23,675.00
			Cutting and Replacing with Flexible Base and Hot Mix Asphaltic Concrete Pavement (Trench Repair) - Type "C" Modified or Type "D" - 3 inches min. compacted depth. Complete and In-				
37	5,918	SY	Place Full Depth Pavement Replacement.	\$100.00			\$591,800.00
38	1,270	SU	Complete and In-Place	\$100.00			\$127,000.00

Prepared by DYS						
Solicitation No.: PROPOSAL: TIME &	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS C_13 Broadway Corridor, Package A Job # 11-2518		SID REJECTE	Layne Inliner, LLC 4701 Decker Baytown, Texas 77520		
DATE:		November 19, 20				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		
39	910	LF	Cutting and Replacing Concrete Curbing (<1,000 LF). Complete and In- Place	\$5.00		\$4,550.00
40	45	SY	Concrete Driveways Reconstruction. Complete and In-Place	\$100.00		\$4,500.00
41	460	SY	Concrete Sidewalks Reconstruction. Complete and In-Place.	\$75.00		\$34,500.00
42	1	LS	SWPP Plan and Execution	\$15,000.00		\$15,000.0
43	50	FT	Inlet Gravel Filter Bags	\$2.00		\$100.00
44	1	LS	Utility Relocation Allowance	\$150,000.00		\$150,000.00
Α			SUBTOTAL BASE BID			\$16,268,945.00

Prepared by DYS					
Solicitation No.:	B-13-CD-058-RA	Contract No.: C-13- SAN ANTONIO P. O. BOX 2449 SAN ANTONIO, TEX. TABULATION OF BI	WATER SYSTEM AS 78298-2449		er, LLC Sker as 77520
PROPOSAL:		C_13 Broadway Cor Job # 11-2518	ridor, Package A		Layne Inliner, LLC 4701 Decker Baytown, Texas 77520
TIME &		9:30 A.M.			Bay B
DATE:		November 19, 2013			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	